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INDIAN SOCIETY & CULTURE
Time Allotted : 3 Hqurs Full Marks : 70

The figures in the margin indicate full marks.,

Candidates are réquired to give their answers in their own

words as far as practicable.

GROUP - A |
( Multiple Choice Type Questions )

1. Choose the correct alternatives for any ten of the

following : | | 10x1=10

i)  Which one of the following countries denotes the -

highest population in the world ?

a) China ' ~ b) India
| c) Japan d) United States.
ii)  Culture is distinguished from
a) Values b} Norms
c) Symbols d) Civilization.
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iti)

Which state has thé lowest illitéracy rate in India ?
a) -West Bengal - b) ‘Bihar

c) Jharkhand d) Kerala.

Social stratification based largeiy on individual
achievement is called a | v

a) Caste system " 'b) Class system

c) Estatesystem - d) Classes society.

The Community: Development Programme was
started in India in '

a) 1947 b) 1950

vi)

vii)

viii)

¢ 1952 4 1948
Which of the following is not connected with the
caste system ? '

a) Enddgamy b} Education

c) Complexity = d) Closed system.

The first juvenile court was established in.

a) Tokyo . b) Delhi

c) Beijing ; d) Chicago.

As per 2011 census report, India's total vpopulétion
EE TRV million. |

a) 1120 b)) 1210

c) 1027 d) 1702.
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A group of peopie organized for a particular
purpose is known as B
a) Community b) Association

c) Society - d) Institution.
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x) Endogamy, common society, common language are
some of the important features of

a) Agrarian society b) Industrial society
¢} Tribal society =~ d) Christian society.
xi) Passport issuing policy is becoming rigid due to
a) Cultural differences
b) Problem of unemployment |
- ¢} Immigration
d) Child labour.
xii) Disguised unerhploymént is generally found in
a) Agricultural sector
b) Ihdustrial sector
c) Tertiary scc‘tor

d) none of these.

GROUP - B
{ Short Answer Type Questions )
Answer any three of the following. 3 x5 =15

2. Enumerate the different causes of illiteracy in India.

'~ 3. Point out the measures to be adopted to tackle the

Terrorism.
4. D‘i.scuss the féctors causing Migration' Qf people.
5. | Point out the causes of Juvenile Delinquency.
6. What are fhe problems of aged population ?
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, - GROUP-C
( Long Answer Type Questions )
Answer any three of the following. 3 x 15 = 45
7. Give an outline of the travditional,cas.tevsystem in India
and discuss the major factors contributing to the

decline of caste rigidity as at present. 8+7

8. Discuss the types and causes of unémployment in India
and as well as discuss the Government Policy for

removing the problem of unemployment. ' 5+5+5

9. a) Explain the concept of "Poverty" referring to its

causes.

b) Critically assess the Poverty alleviation measures in

India. - , 8+7

10. Discuss the problem of child labour in India referring to-
its magnitude, causes and measures to control the

system. 6+5+4
11. a) What do you mean by "Human Values" ?

b) Discuss the reasons for the value crisis in the

contemporary Indian society. 6+9
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